XNEW VA
RIS TE iz B EO0° HANSAVFLEX

| 1.3 v
#01 Bk R TIARE sw .2
BHEX 1 PFFED . S ]u I

#gO2 KRAEIFMRL, B4
BHER 2 24°R#

gges A AT A IR E
-2 2F AE0°

R 1SO 8434-1 t

BEBE  EEEHESSNET) o2
¢ TN = =
'R

BERE, A, ENAERNATN TRENHE RIS NS ERNEAEL,

# &

SR IHED B

XNEW NW 04 HL VA L PN 315 6 M12x1.5 26,0 12,0 19 12 14
XNEW NW 06 HL VA L PN 315 8 M14x1.5 27,5 14,0 21 12 17
XNEW NW 08 HL VA L PN 315 10 M16x 1.5 29,0 15,0 22 14 19
XNEW NW 10 HL VA L PN 315 12 M18x 1.5 29,5 17,0 24 17 22
XNEW NW 13 HL VA L PN 315 15 M22x1.5 32,5 21,0 28 19 27
XNEW NW 16 HL VA L PN 315 18 M26x 1.5 35,5 23,5 31 24 32
XNEW NW 20 HL VA L PN 160 22 M 30 x 2 38,5 27,5 35 27 36
XNEW NW 25 HL VA L PN 160 28 M 36 x 2 42,0 30,5 38 36 41
XNEW NW 32 HL VA L PN 160 35 M 45 x 2 51,0 34,5 45 41 50
XNEW NW 40 HL VA L PN 160 42 M52 x 2 60,0 40,0 51 50 60
XNEW NW 03 HS VA S PN 630 6 M14x1.5 27,0 16,0 23 12 17
XNEW NW 04 HS VA S PN 630 8 M16x 1.5 27,5 17,0 24 14 19
XNEW NW 06 HS VA S PN 630 10 M18x 1.5 31,0 17,5 25 17 22
XNEW NW 08 HS VA S PN 630 12 M20x 1.5 31,0 21,5 29 17 24
XNEW NW 10 HS VA S PN 630 14 M22x 1.5 35,0 22,0 30 19 27
XNEW NW 13 HS VA S PN 400 16 M24x1.5 34,5 24,5 33 24 30
XNEW NW 16 HS VA S PN 400 20 M 30 x 2 445 26,5 37 27 36
XNEW NW 20 HS VA S PN 400 25 M 36 x 2 50,0 30,0 42 36 46
XNEW NW 25 HS VA S PN 400 30 M 42 x 2 55,0 35,5 49 41 50
XNEW NW 32 HS VA S PN 315 38 M52 x 2 66,5 41,0 57 50 60
PN=fIEESD PB=BAKIEEN - FHRILL=3FER =B S=E - 0d2=E/NER

FREE
XNEW IRIER, AE0°, N
NEW VA $B#iER AE0°, THN

B B 7T 4
VOM TiEEEE

RERT 7 RAFF BRI ETLHEBRK £ 1RAY ATBE 3T AT R A915 B B #E K 2\ | T AR FH Ao
16.07.2025 HANSA-FLEX AG www.hansa-flex.com 1



